(OLD STYLE)
SHAFT & WHEEL ASSEMBLIES TENSION HANDLE ON TOP

(NEW STYLE)
TENSION HANDLE BELOW

AO4d 43HOL1Nd

UPPER WHEEL
SHAFT & BEARING WHEEL DIAMETER « WHEEL ASSY “WHEEL ASSY
ASSY ONLY WITH HANGER
BB019A-7 BB105U 12" BB107A BB108AH-12
BB019A-7 BB082-149 14" BB082A-149 BB085AH-14
BB019A-7 BB080-169 16" BBO80A-169 (OLD) BB086AH-16 / (NEW) BB103AH-16
1435 BB019A-7 BB082-149 14" BB082A-149 BB085AH-14
1640 BB019A-7 BB080-169 16" BB0O80A-169 BB103AH-16
COBRA 14 BB019A-7 BB082-149 14" BB082A-149 BB085AH-14
COBRA 16 BB019A-7 BB080-169 16" BBO80A-169 BB103AH-16
SA20 BB019A-7 BB113U BB109A N/A

* Complete with Wheel, Shaft, Bearings, Seal, Gaskets,
Spacer, Hub Cap & Retainer

LOWER WHEEL

SAW SHAFT & BEARING MAIN BEARING HOUSING WHEEL ONLY DIAMETER
MODEL # ASSY ASSY
B12 BB020A-23 BB123A BB106L 12"
B14 BB020A-23 BB123A BB083-1410 14"
B16 BB020A-23 BB123A BB081-1610 16"
1435 BB020A-23 BB123A BB083-1410 14"
1640 BB020A-23 BB123A BB081-1610 16"
COBRA 14 BB020A-23 BB123A BB083-1410 14"
COBRA 16 BB020A-23 BB123A BB081-1610 16"
SA20 BB020A-23 N/A BB114L

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




UPPER SHAFT

A
),
BB063-23A

Upper & Lower Shaft
Nut & Washer

'\
\Y

BBO19A-7

Upper Shaft &
Bearing Assembly
with Metal Shields

BBO019A-7/N

Upper Shaft &
Bearing Assembly
with Neoprene Seals

BBO77-41A
Upper Wheel
Bearing Retainer

BUTCHER BOY

BB052-41D
Upper & Lower
BB049-6A % AN SN Shaft Seal
Upper Bearing P
Spacer
Upper Wheel Shaft

BB UMB
Upper Main Bearing
with 1 Metal Shield

BB UMBN/1
BB UMB Upper Main Bearing

Upper Main Bearing with 1 Neoprene Seal

with 1 Metal Shield BB UMBN/2

BB051-41C ) )
g Shaft Gasket BB UMBN/1 Upper Main Bearing
BB078-41 Upper Main Bearing with 2 Neoprene Seals

Hub Cap with 1 Neoprene Seal

BB UMBN/2
Upper Main Bearing
with 2 Neoprene Seals

FITS MODELS

NBS P/N OEM P/N DESCRIPTION
BB019-7 (7) 10150 Upper Wheel Shaft
BB019A-7 101574 Upper Shaft & Bearing Assembly with Metal Shields
BBO019A-7/N 101574 Upper Shaft & Bearing Assembly with Neoprene Seals
BB049-6A (6A) 10258 Upper Bearing Spacer
BB051-41C (41C) 10127 Shaft Gasket
BB052-41D (41D) 90400 Upper & Lower Shaft Seal
BB063-23A 10770 Upper & Lower Shaft Nut & Washer
BB077-41A (41A) 10030 Upper Wheel Bearing Retainer
BB078-41 (41C) 10127 Hub Cap
BB UMB (6) 90302 Upper Main Bearing with 1 Metal Shield
BB UMBN/1 (6) 90302 Upper Main Bearing with 1 Neoprene Seal
BB UMBN/2 (6) 90302 Upper Main Bearing with 2 Neoprene Seals

vy]
N
@
I
vy]
o

XXX XXX XXX XXX =

1435|1640

x
x

SKPX X XXX XX XXX X =
XXX XXX X XX XXX =
KL X XXX X XXX XX | <

XXX XXX X X X XXX
S| X XXX X XX XX XX X< X
XXX XXX X X X XXX
KL X XXX X X XX XX <

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




LOWER SHAFT

BB020A-23
Lower Shaft &
Bearing Assembly
with Metal Shields

BB020A-23/N
Lower Shaft & BB059-23B
Bearing Assembly

Lower Shaft Key
with Neoprene Seals %

BB020-23 Lower Main Bearing
Lower Wheel Shaft with 1 Metal Shield

AO4d 43HOL1Nd

BB LMBN/1
Lower Main Bearing
with 1 Neoprene Seal

BB060-24C BB LMBN/2
Lower Shaft Lower Main Bearing

Snap Ring with 2 Neoprene Seals
BB052-41D ' B oma2dC

Upper & Lower \eZe Lower Shaft

Shaft Seal Snap Ring

e \
\\
‘ N \ Lower Main Bearing
\\ \ with 1 Metal Shield
|
AN
Ny,

BB125
Bearing Retainer Plati

BB LMBN/1
Lower Main Bearing

©

| -
J with 1 Neoprene Seal

/ BB063-23A BB LMBN/2
Upper & Lower Shaft Lower Main Bearing
Nut & Washer with 2 Neoprene Seals

FITS MODELS

NBS P/N OEM P/N DESCRIPTION
BB020-23 (23) 10023 Lower Wheel Shaft
BB020A-23 10575 Lower Shaft & Bearing Assembly with Metal Shields
BB020A-23/N (23) 10023 Lower Shaft & Bearing Assembly with Neoprene Seals
BB052-41D (41D) 90400 Upper & Lower Shaft Seal
BB059-23B (23B) 59347-8 Lower Shaft Key
BB060-24C (24C) 90200 Lower Shaft Snap Ring
BB063-23A 10770 Upper & Lower Shaft Nut & Washer
BB125 (41E) 10029 Bearing Retainer Plate
BB LMB (24) 90300 Lower Main Bearing with 1 Metal Shield
BB LMBN/1 (6) 90300 Lower Main Bearing with 1 Neoprene Seal
BB LMBN/2 (6) 90300 Lower Main Bearing with 2 Neoprene Seals

vy]
N
vy]
o~
vy]
o

XXX X XX XX X X|X]| =

1435( 1640

XXX X X | XXX X X|X]| =
XXX X X | XXX XX X]| =
XX XX X X XXX XX
XXX X X X XXX X X
XXX X X X XXX X X
XX XX X XX X X X | X
XXX X X X XXX X | X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




LOWER MAIN BEARING HOUSING

BUTCHER BOY

BB123A

Lower Main Bearing Housing Assembly -
Includes Bearings, Shaft, Grease,
Retaining Rings, Seal, Nut, Washer

& Square Key

\ BB124

Lower Main Bearing Housing

BB126
Bearing Retainer Ring

FITS MODELS

NBS P/N OEM PIN DESCRIPTION B16|1435 | 1640
BB123A 10025 Lower Main Bearing Housing Assembly X X X X X
BB124 (22A) 10024 Lower Main Bearing Housing X
BB126 (41B) 90201 Bearing Retainer Ring X X X X X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.



Upper Shaft Bearing

Lower Shaft Bearing
(Roller) Front

Lower Guide with Pin

FITS
SA30 - SA36

BB157
Lower Shaft

BB079
Guide Block

8 BBOO1A-20A/S

@%ner Stud
{

Lower Shaft Bearing
(Ball) Rear

BB161
Roller Table Bearing

BB067
Fiber Scraper
Upper & Lower Wheel

FITS MODELS

NBS P/N

OEM P/N

DESCRIPTION

SA30

SA36

BB001A-20A/S| (15B) FHSS-19-16-N

Filler Stud

X

X

BB067

30092

Filler Scraper Upper & Lower Wheel

BB079

30090

Guide Block

BB093

30134

Lower Guide with Pin

BB155

(23) 30084

Upper Shaft

BB156

(31) 90306

Upper Shaft Bearing

BB157

(4) 30014

Lower Shaft

BB158

(2) 90315

Lower Shaft Bearing (Roller) Front

BB159

(2A) 90313

Lower Shaft Bearing (Ball) Rear

XXX XX XXX

XXX XX XXX

BB161

(79B) 90302

Roller Table Bearing

x

x

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.

AO4d 43HOL1Nd




BB153L

BB112 Guide Block
Threaded Sleeve -Left Hand

- ~ BB036
Often the threaded sleeve Slide Plate

becomes frozen in the saw
and is difficult to remove.
Using a 3/4" socket, this
tool is threaded into existing BB154R
threaded sleeve and it will Guide Block
bottom out and turn out the -Right Hand

BBX-100 \threaded insert. )
Threaded Sleeve
Extractor Tool

BB102A

Upper Wheel Hanger -
New Style (Complete with
Tension Gauge Indicator,
Spring & Cleaner Arm

Assembly)
BB075-31E

Tension Gauge
Spring (S BB104
P Upper Wheel
Scraper Arm

BUTCHER BOY

BB111
BB110 Wheel Adjusting
Tension Gauge Screw & Nut
Indicator

BB136
Tension Gauge BB101A
Spring & Pin Kit Tension Adjusting Tension Adjusting Screw
& Handle Assembly
N/S B16

Note: "NEW" B16-
Tension Handle located

below Upper Wheel : BB039-59
Wheel Scraper Spring

Tension Handle
FITS MODELS

COBRA

NBS P/N OEM P/N DESCRIPTION B16 [1435 | 1640 | 14 16
BB005-33 (33) 10040 Wheel Scraper NEW X X X X
BB036 16092 Slide Plate X
BB039-59 (59) 10277 Wheel Scraper Spring NEW X
BBO075-31E (31E) 10082 Tension Gauge Spring NEW X
BB101A 16089 Rod & Indicator Assembly N/S B16 NEW
BB102A 16059 Upper Wheel Hanger - New Style NEW
BB104 (34) 16511 Upper Wheel Scraper Arm NEW
BB110 (31H) 10056 Tension Adjusting Screw & Handle Assy NEW
BB111 (35A) Wheel Adjusting Screw & Nut NEW
BB112 (31K) 10034 Threaded Sleeve NEW
BB132 (31G) 16034 Tension Gauge Pin - N/S NEW
BB134 (31J) 10033 Tension Adjusting Screw NEW
BB135 (30C) 16090 Tension Handle NEW
BB136 (31F) 16095 Tension Gauge Spring & Pin Kit NEW
BB153L 10282 Guide Block - Left Hand NEW
BB154R 10283 Guide Block - Right Hand NEW
BBX-100 N/A Threaded Sleeve Extractor Tool NEW

X
X

DKL XX X X X X X X X X | X

KL X X X XX X XX X XXX X X X X

X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




(3

\ Note: "OLD" B16-

Tension Handle located BB014-30A
on top of Upper Wheel Tension Handle

BB087A-18
B16 Tension BB073-31A

Hanger Assembly Tension Gauge Housing

BBO088A-18
B14 Tension

Hanger Assembly B075-31E

BBO089A-18 nsion Gauge Spring

B12 Tension
Hanger Assembly

BB074-31C/12
Rod & Indicator Assembly

BB074-31C/14
Rod & Indicator Assembly

AO4d 43HOL1Nd

BB074-31C/16
Rod & Indicator Assembly

BB076-31D
Tension Gauge Pin

BBO071-8A
Upper Wheel Hanger
BB005-33

Wheel Scraper
BB048-34/12

Upper Wheel Scraper Arm - B12
BB039-59

Wheel Scraper Spring B12 6 1/4"
BB048-34/14

B14 71/2"  ypper Wheel Scraper Arm - B14
B16 8 3/4"

BB053-35 ¢, BB048-34/16
Adjusting Screw & Nut Upper Wheel Scraper Arm - B16

FITS MODELS

NBS P/N OEM P/N DESCRIPTION B16 |1435 | 1640
BB005-33 (33) 10040 Wheel Scraper OoLD X X
BB014-30A (30A) 10141 Tension Handle OLD X
BB039-59 (59) 10277 Wheel Scraper Spring OLD X X
BB048-34/12 (34) Upper Wheel Scraper Arm -
BB048-34/14 (34) Upper Wheel Scraper Arm -
BB048-34/16 (34) Upper Wheel Scraper Arm -
BB053-35 (35) 14475 Adjusting Screw & Nut
BBO071-8A (8A) 10280 Upper Wheel Hanger
BB073-31A (31A) 10278 Tension Gauge Housing
BB074-31C/12 (31C) Rod & Indicator Assembly
BB074-31C/14 (31C) Rod & Indicator Assembly
BB074-31C/16 (31C) Rod & Indicator Assembly
BB075-31E (31E) 10082 Tension Gauge Spring
BB076-31D (31D) Tension Gauge Pin
BBO087A-18 (18A) B16 Tension Hanger Assembly
BBO088A-18 (18) B14 Tension Hanger Assembly
BBO089A-18 (18) B12 Tension Hanger Assembly

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB099A-14
Adjusting Bar Guide Assembly BB095-14A
Complete with Guide & Adjusting Bar Guide
Roller Mount Assembly with Spring Lock
Bar Length = 18 1/2" BB047-38A/12

Blade Support Adjusting Bar - B12
N/ Length = 14 1/4"

BB047-38A/14

Blade Support Adjusting Bar - B14
Length = 16 1/4"

BB047-38A/16

Blade Support Adjusting Bar - B16 5
Length = 18 1/2" Q&
BB096-37A
Adjusting Bar

@' Guide Knob
NN~ g

@ BBOO1A-20A/L
\ Threaded Stud
p3 <

BB046-40

Adjusting Guide & BB SGBN

Roller Mount Saw Guide Bearing
with Neoprene Seals

BB SGB
Saw Guide Bearing
with Metal Shields

BUTCHER BOY

¢ BB070-DR
BB094 § Diamide Roller
BB024-39/NS Screw ~
Blade Guard Attaches blade %

guard to roller mount  BB003-53V BB029-52A
Upper Saw Guide  Bearing Thumb Screw
with "V" Front

BB027
Extension Stop

BB084

BB133 :
Blade Guard Knob @ Guard Extension

NBS P/N OEM P/N DESCRIPTION
BBO0O01A-20AL (20A)FH55-14-16-N| Threaded Stud
BB003-53V (53) 10074 Upper Saw Guide with "V" Front
BB024-39/NS (39) 10717 Blade Guard
BB029-52A (52A) Bearing Thumb Screw
BB027 (90B) 10714 Extension Stop
BB046-40 (40) 10270 Adjusting Guide & Roller Mount
BB047-38A/12 (38A) Blade Support Adjusting Bar - B12
BB047-38A/14 (38A) Blade Support Adjusting Bar - B14
BB047-38A/16 (38A) Blade Support Adjusting Bar - B16
BB070DR Diamide Roller
BB084 10712 Guard Extension
BB094 (39A) Screw
BB095-14A (14A) 10366 Adjusting Bar Guide with Spring Lock
BB096-37A (37A) 90600 Adjusting Bar Guide Knob
BB099A-14 (90) Adjusting Bar Guide Assembly
BB133 (90C) 95084 Blade Guard Knob
BB SGB (52) Saw Guide Bearing with Metal Shields
BB SGBN (52) Saw Guide Bearing with Neoprene Seals

FITS MODELS

vs}
N

XXX XX X[ X]| =

x

XX XX X | XXX
XXX X X | X XX
XXX XXX X X X X

x
x

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB013-65C
Scraper Assemby Knob

BB044-67A

— Rear Blade &
I AVAILABLE WHILE Wheel Scraper Moun

SUPPLIES LAST

BBO041A-66F
Blade Scraper Holde
Assembly - Fiber

BB016-21A
Spacer Block

BB039-59
Wheel Scraper Spring

BB005-33
Wheel Scraper

BBO041A-66S

Blade Scraper Holder Blade Scraper Spring
Assembly - Steel

AO4d 43HOL1Nd

BB067
Fiber Scraper
Upper & Lower Wheel

FITS

SA30 - SA36 | BBO79
Guide Block

@ BBO001A-20A/S

%Iler Stud
i

BB093
Lower Guide with Pin

FITS MODELS
COBRA

NBS P/N OEM P/N DESCRIPTION 1640 | 14 16
BBO01A-20A/S |(15B) FHSS-19-16-N | Filler Stud
BB005-33 (33)10040 Wheel Scraper
BB013-65C (65C) 10418 Scraper Assembly Knob
BB016-21A 21A Spacer Block
BB039-59 (59)10277 Wheel Scraper Spring
BB041A-66F (66F)10460 Blade Scraper Holder Assy - Fiber
BB041A-66S (66S)10460 Blade Scraper Holder Assy - Steel
BB043 (66) 10199 Blade Scraper Spring
BB044-67A 67A (10248) Rear Blade & Wheel Scraper Mount
BB067 30092 Fiber Scraper Upper & Lower Wheel
BBO79 30090 Guide Block
BB093 30134 Lower Guide with Pin

X X X

XXX X XX XX
XXX X XX XX
XXX X XX XX

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BBO042A-15A
BBOO1A-20A/L Front Scraper Assembly -

Filler Stud - Long New Style

BB042-65H/NS

Blade Roller &
BBOO01A-20A/S Scraper Mount -

Filler Stud - Short N New Style

BB SGBN (@ﬁ}
Saw Guide Bearing ;

with Neoprene Seals

BB SGB BB039-59 '

Saw Guide Bearing Wheel Scraper Spring
with Metal Shields
BB005-33

= Wheel Scraper
BB029-52A '

Bearing Thumb
Screw

BUTCHER BOY

 BBOO6-73F

BB041A-66F
Blade Scraper - Fiber

Blade Scraper Holder
Assembly - Fiber BB006-73S y BB062-65D

Blade Scraper - Steel
BBO041A-66S p Deflector

Blade Scraper Holder

BB002-21V Assembly - Steel

Lower Saw Guide
with "V" Front

BB002-21VC
Lower Saw Guide
with Carbide Insert WY BB001-20

Filler Block - Nylon

BB118

Filler Block - Fiber FITS MODELS

NBS P/N OEM P/N DESCRIPTION
BB001-20 (20) 10000 Filler Block - Nylon
BBO01A-20A/L (15B) FHSS-19-16-N Filler Stud - Long
BBO001A-20A/S (20A) FHSS-19-12-N Filler Stud - Short
BB002-21V (21) 10002 Lower Saw Guide with "V" Front
BB002-21VC 20785 Lower Saw Guide with Carbide Insert
BB005-33 (33) 10040 Wheel Scraper
BB006-73F (73F) 10300 Blade Scraper - Fiber
BB006-73S (73S) 10310 Blade Scraper - Steel
BB029-52A (52A) 10369 Bearing Thumb Screw
BB039-59 (59) 10277 Wheel Scraper Spring
BBO041A-66F (66F) 10464F Blade Scraper Holder Assembly - Fiber
BBO041A-66S (66S) 10464S Blade Scraper Holder Assembly - Steel
BB042-65H/NS (65H) 10305 Blade Roller & Scraper Mount - New Style
BBO042A-15A (15A) 10304 Front Scraper Assembly - New Style
BB062-65D (65D) 10197 Deflector
BB118 (20) 10000 Filler Block - Fiber
BB SGB (27) 90301 Saw Guide Bearing with Metal Shields
BB SGBN (27) 90301 Saw Guide Bearing with Neoprene Seals

o
N
]
S

DXL XXX XXX XX XX XX X X XX X =
(o]

1435 | 1640

x

DXL XX X X XX XXX XXX XXX X =
S XXX X X XX XXX X XX XXX X =
S X XXX X X XX XXX X XX XX XX
DKL XX X X X X X XXX XXX XXX X

S XXX X X XX XXX X XX X XXX
DKL XX X X X X X X X XX XXX XXX X X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




A | \
@ > &

Rear Scraper Assembly Rear Scraper Assembly BBO065A-95
New Style Rear Scraper Assembly

BB010-66 BB010-66
Locking Thumb Screw Locking Thumb Screw

AO4d 43HOL1Nd

BB045-66D/NS BB121

Rear Scraper Mount - Rear Scraper Mount BB064-94

New Style Rear Scraper Mount
BBO041A-66F

Blade Scraper Holder
Assembly - Fiber @ 7 ‘
BB041A-66S 5

Blade Scraper Holder BB010-66
Assembly - Steel Locking Thumb Screw
SN BB043

Q Blade Scraper Spring
Q
BB006-73F

Blade Scraper - Fiber

BB006-73S
Blade Scraper - Steel

FITS MODELS

NBS P/N OEM P/N DESCRIPTION
BB006-73F (73F) 10300 Blade Scraper-Fiber
BB006-73S (73S) 10300 Blade Scraper-Steel
BB010-66 (66) 10303 Locking Thumb Screw
BB041A-66F (66) 10460 Blade Scraper Holder Assy - Fiber
BBO041A-66S (66S) 10464S Blade Scraper Holder Assembly - Steel
BB043 (66) 10199 Blade Scraper Spring
BB045-66D/NS (65) 10246 Rear Scraper Mount - New Style
BBO045A-17A (17A) 10298 Rear Scraper Assy - New Style
BB064-94 160094 Rear Scraper Mount
BBO065A-95 160095 Rear Scraper Assy
BB120A Rear Scraper Assy
BB121 Rear Scraper Mount

o8}
N
o8}
NS
w
[¢]

XX XX XXX X] =

XXX XXX X|X]| =
XXX XXX X|X]| =

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




FITS SA20
BBOS5A

Front Scraper Assy
(Old style)

BB055
Front Scraper Body
(Old Style)

BB SGBN
Z Saw Guide Bearing
" with Neoprene Seals

BBO23A .  BBO41A-66F

Front Scraper Assy Blade Scraper

BUTCHER BOY

Scraper Holder

BB005-33
Wheel Scraper

BB023
Front Scraper Body

BB039-59
Wheel Scraper Spring

Holder Assy - Fiber

BB006-73F
Blade Scraper - Fiber

BB006-73S
Blade Scraper - Steel

BB043 @

Blade Scraper Spring

NBS P/N

OEM P/N

DESCRIPTION

BB005-33

(33) 10040

Wheel Scraper

x

BB006-73F

(73F) 10300

Blade Scraper - Fiber

BB006-73S

(73S) 10310

Blade Scraper - Steel

BB023

N/A

Front Scraper Body

BB023A

(88A) 20679

Front Scraper Assy

BB028

N/A

Rear Scraper Body

BB028A

(89) 20225

Rear Scraper Assy

BB034

(97B) 20055

Scraper Holder Stud Assy

BB039-59

(59) 10277

Wheel Scraper Spring

BBO041A-66F

(66) 10469

Blade Scraper Holder Assy - Fiber

BB043

(66) 10199

Blade Scraper Spring

BB055

N/A

Front Scraper Body (Old Style)

BBOS55A

N/A

Front Scraper Assy (Old Style)

BB SGBN

(27) 90301

Saw Guide Bearing with Neoprene Seals

XXX X XXX X X XX XX X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB003-53VC
Upper Saw Guide
w/ Carbide Insert

BB003-53V
Upper Saw Guide
with "V" Front @

BB001SA-2069
Filler Block

AO4d 43HOL1Nd

BB002-21VC
Lower Saw Guide BB119LH
w/ Carbide Insert

Fiber Filler Block
(Left Hand Saws Only)
BB002-21V
Lower Saw Guide 1|||n
with "V" Front
II BB118
Fiber Filler Block
BB001-20
Nylon Filler Block

FITS MODELS

NBS P/N OEM P/N DESCRIPTION B16 |1435 [1640
BB001-20 (20) 10000 Nylon Filler Block X X X
BB001SA-2069 20143 Filler Block
BB002-21V (21) 10002 Lower Saw Guide with "V" Front
BB002-21VC 20785 Lower Saw Guide w/ Carbide Insert
BB003-53V (53) 10074 Upper Saw Guide with "V" Front
BB003-53VC N/A Upper Saw Guide w/ Carbide Insert
BB118 (20) 10000 Fiber Filler Block
BB119LH N/A Fiber Filler Block (Left Hand Saws only)

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




Thickness Gauge

Ratchet Lock BB128A/16

Thickness Gauge-Assembly

BB130
BB069 Gauge Housing

Gauge Plate Nuts &>
& Lock Washers  \C

(10/pkg)

BB054-60
Gauge Roller

BUTCHER BOY

BB011-62B W BB056-624

Gauge Bushing D) Gauge Spindle & Arm Assy
BB129

Gauge Plate 5

) BBO057-61A

(7/7)/7%» Measuring Arm Spring

S W/)

W&
\\ BB058-61B

\ ‘;» '// . .
BB007-68 Measuring Arm Pin
End Catch ) BB098-63

(Gauge Arm Support) Gauge Lock Knob

@\/

2|
N7

7 BB061-63B

Measuring Arm
Lock Stud

BB022
Short Cut Plate FITS MODELS

NBS P/N OEM P/N DESCRIPTION
BB007-68 (68) 10313 End Catch (Gauge Arm Support)
BB011-62B (62B) 90700 Gauge Bushing
BB022 (47) 10203 Short Cut Plate
BB033-61C (61C) 10180 Thickness Gauge Ratchet Lock
BB054-60 (60B) 10297 Gauge Roller
BB056-624 (62A) 10284 Gauge Spindle & Arm Assy
BB057-61A (61A) 10314 Measuring Arm Spring
BB058-61B (61B) 10211 Measuring Arm Pin
BB061-63B (63B) 10328 Measuring Arm Lock Stud
BB069 N/A Gauge Plate Nuts & Lock Washers (10/pkg)
BB098-63 (63) 10315 Gauge Lock Knob
BB128A/16 (16) 10316 Thickness Gauge Assy
BB129 (60) 14072 Gauge Plate
BB130 (61) 10291 Gauge Housing
BB131 (64A) 10287 Gauge Hand Wheel

N
vs)
=
[e)]

1435

XXX XX XX XXX XX XXX =

><><><><><><><><><><><><><><><E
N

XXX XX X X X XX XX X< X X
K| XXX XX XXX X XX X X XX XX XX X
XXX XX X X X XX XX X X X
XXX XXX X XXX XX X X X
DKL XXX XX XX XX X X XX XX XX X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




FITS SA20

BB141A

Thickness Gauge Assy
BB138
Thickness Gauge
Housing

BB068
Blade Guard
Assy

BB137
Thickness Gauge Plate 72 BB150
BB027 Blade Support

Extension Stop Adjusting Bar

p W . BB1
< » Thickness Gauge 33
®

- Bl K
BB139 Handwheel ade Guard Knob
Thickness Gauge

Spindle BB145
Tension Gauge
Spindle Sleeve BB095-14A
Adjusting Bar Guide
w/Spindle Lock

AO4d 43HOL1Nd

/

BBO01A-20A/L

BB144 Threaded Stud _

BB143 Tension Gauge
Spindle

Thickness Gauge

Slide Rod
BB135 BB136 BB152

- Tension Gauge ;
Tension Gauge Hand Gri
Handle /g o Spring & Pin Kit Round Nﬁt

//;
/\
~

BB142
Thickness Gauge - /

\
Ratchet Lock ( \’ ‘\\\\\\\\\\\
! BB151
BB002 21v I

Blade Guide

Lower Saw Guide Holder

with "V" Front

BB002-21VC
Lower Saw Guide
with Carbide Insert

NBS P/N OEM P/N DESCRIPTION
BBO01A-20A/L (20A) FH55-14 | Threaded Stud
BB002-21V (21) 10002 Lower Saw Guide with "V" Front
BB002-21VC 20785 Lower Saw Guide with Carbide Insert
BB027 (90B) 10714 Extension Stop
BB068 (38A) 20921 Blade Guard Assy
BB095-14A (39) 10717 Adjusting Bar Guide w/Spindle Lock
BB133 (90C) 95084 Blade Guide Knob
BB135 (30) 16090 Tension Gauge Handle
BB136 (31F) 16095 Tension Gauge Spring & Pin Kit
BB137 (50C) 20688 Thickness Gauge Plate
BB138 (50B) 20570 Thickness Gauge Housing
BB139 (52A) 20213 Thickness Gauge Spindle
BB140 (51A) 20896 Thickness Gauge Handwheel
BB141A (137) 20340 Thickness Gauge Assy
BB142 (54A) 20215 Thickness Gauge Ratchet Lock
BB143 (56A) 20217 Thickness Gauge Slide Rod
BB144 (14A) 20652 Tension Gauge Spindle
BB145 (15A) 20655 Tension Gauge Spindle Sleeve
BB150 (37A) 20781 Blade Support Adjusting Bar
BB151 (128) 20782 Blade Guide Holder
BB152 (131) 20789 Hand Grip Round Nut

XX XX < | <] X XXX X XXX X X XXX X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB117A-12
Gauge Rod - New Style

Length = 14 3/4" A~
BB116A-14

Gauge Rod - New Style 5
Length = 17 3/8" BB031-69B
Rod Mount &

BB115A-16 Locking Pin

BB032-69/12
("““' Gauge Rod - B12
Length = 14 3/4"
BB032-69/14
Gauge Rod - B14
Length = 17 3/16"
BB032-69/16
Gauge Rod - B16

BB030-69A Length = 19 3/16"
Rod Liner Pin

BUTCHER BOY

BB025-56C
Table Thumb Screw

BB122A

Track Brace Assembly BB037-11B
Table Holding Pin

BB066
Table Locking Lever

BB009-46A

'__,.-'"::..-"I
=" BBO12-456 BBO72-56F
2 Table Stop Assembly Lever Adjusting Lock

FITS MODELS

NBS P/N OEM P/N DESCRIPTION 143511640
BB009-46A (46A) 90612 Bumper X X
BB012-456 (45) 10037 Table Stop Assembly X X
BB025-56C 56C Table Thumb Screw X X
BB030-69A 69A Rod Liner Pin
BB031-69B 12335 Rod Mount & Locking Pin
BB032-69/12 (69) Gauge Rod - B12
BB032-69/14 (69) Gauge Rod - B14
BB032-69/16 (69) Gauge Rod - B16
BB037-11B (11B) 10098 Table Holding Pin
BB066 (56G) 16060 Table Locking Lever
BB072-56F (56F) 10293 Lever Adjusting Lock
BB115A-16 16535 Gauge Rod - New Style
BB116A-14 14335 Gauge Rod - New Style
BB117A-12 12335 Gauge Rod - New Style
BB122A (12C) 10260 Track Brace Assembly X X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB149A

Carrying Table Wheel Assy
Wheel, Bearings & Axle

BBO008-11F
Table Roller
Flat

BB148
Carrying Table Wheel

Table Bearing
(2 Required Per Wheel)

BB146A

AO4d 43HOL1Nd

BB008-11V Carrying Table Axle Assy

Table Roller
"V" Groove

BB008-11U
Table Roller
"U" Grove

BB127A
Table Bearing
Axle & Nuts

FITS MODELS

NBS P/N

OEM P/N

DESCRIPTION

BBO008-11F

(11A) 10065

Table Roller - Flat

BB008-11V

(11v)

Table Roller "V" Groove

BB008-11U

(11U) 10068

Table Roller "U" Grove

BB127A

(11C) 10329

Table Bearing Axle & Nuts

BB146A

160238B

Carrying Table Axle -Assy

BB147

90343

Table Bearing

BB148

160236

Carrying Table Wheel

BB149A

160238

Carrying Table Wheel -Assy

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




BB015-3B
Door Handle Washer

» § D=

Door Knob

BB097-3D (FITS COBRA 14 & 16 DOORS)
Door Pull Guide Knob

BB004-3F
Door Latch - New Style

BB100
Door Hinge Set, Stainless

BUTCHER BOY

BBO17A
Adjustable Leg

BB021A

Motor Torque Rod BB090-7016

Bone Dust Pan - B16
21" x 8Y4" x 3v2"

BB091-7014
Bone Dust Pan - B14
19" x 8¥%2" x 3¥2"

BBO18A BB092-7012

Bone Dust Pan - B12

Drive-In Leveling Leg 17" x 8" x 3V
"y 8" x 3"

w

w
BB038
Torque Bracket

FITS MODELS

NBS P/N OEM P/N DESCRIPTION 1435 | 1640
BB004-3F (3F) 10272 Door Latch - New Style X X
BB015-3B (3B) N/A Door Handle Washer
BBO17A (58E) 10307 Adjustable Leg
BBO18A (58F) 59390 Drive-In Leveling Leg
BBO021A (36A) 10384 Motor Torque Rod
BB035 160132 Door Knob
BB038 10430 Torque Bracket
BB090-7016 16069 Bone Dust Pan - B16 21" x 8%4" x 3%"
BB091-7014 14069 Bone Dust Pan - B14 19" x 8%2" x 3%"
BB092-7012 12069 Bone Dust Pan - B12 17" x 8" x 3%"
BB097-3D (3D) 10151 Door Pull Guide Knob
BB100 (49) 10333 Door Hinge Set, Stainless

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




&% BB003-53V

N H Upper Saw Guide

& u BB002-21V
I Lower Saw Guide

BB001-20
Filler Block

BB003-53VC
Upper Saw Guide
with Carbide Insert

BB002-21VC
Lower Saw Guide
with Carbide Insert

BB001-20
Filler Block

BB003-53V
Upper Saw Guide

BB002-21V
Lower Saw Guide

BB001SA-2069
Filler Block

BB003-53VC
Upper Saw Guide
with Carbide Insert

BB002-21VC
Lower Saw Guide
with Carbide Insert

BB001SA-2069
Filler Block

BB006-73S
Blade Cleaner
- Steel

BB006-73S
Blade Cleaner
- Steel

BB006-73S
Blade Cleaner
- Steel

BB006-73S

Blade Cleaner

- Steel

BBRK-1
Butcher Boy Repair Kit
Models B12, B14 & B16

BB006-73F
Blade Cleaner
- Fiber

Saw Guide
Bearing

BBRK-2C
Butcher Boy Repair Kit
Models B12, B14 & B16

(With Carbide Guide Insert)

527

BB006-73F
Blade Cleaner
- Fiber

BBRK-3
Butcher Boy Repair Kit
Model SA20

S

BB006-73F
Blade Cleaner

- Eiber Saw Guide

Bearing

BBRK-4C
Butcher Boy Repair Kit
Model SA20
(With Carbide Guide Insert)

BB006-73F
Blade Cleaner
- Fiber

A

BB029-52A

Bearing Thumb

Screw

BB029-52A
Bearing Thumb
Screw

AN
BB007-68
End Catch %

BB009-46A
Bumper

LS

BB005-33
Wheel Scraper

N
BB007-68
End Catch %

BB009-46A
Bumper

BB005-33
Wheel Scraper

BBO09-46A -,
Bumper S

BB005-33
Wheel Scraper

"

BB009-46A oy
Bumper F A\ #

BB005-33
Wheel Scraper

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.

\ \"6\;
& &

AO4d 43HOL1Nd




BBRK-5

Hardware Kit
Butcher Boy Saws

Kit constists of 279 STAINLESS STEEL nuts,
bolts, screws and washers in a break resistant
plastic container.

QTY DESCRIPTION
15 5/16 TOOTH WASHER

25 6-32 HEX NUT
25 8-32 HEX NUT
25 10-32 HEX NUT
25 1/4-20 HEX NUT
20 5/16-18 HEX NUT
25 6-32 x 1/4 ROUND HEAD, SLOTTED MACHINE SCREW
20 6-32 x 3/8 ROUND HEAD, SLOTTED MACHINE SCREW
20 8-32x 1/4 ROUND HEAD, SLOTTED MACHINE SCREW
20 8-32 x 3/8 ROUND HEAD, SLOTTED MACHINE SCREW
12 1/4-20 x 3/4 FILLISTER, SLOTTED SCREW
12 1/4-20 x 1 1/8 FILLISTER, SLOTTED SCREW
10 1/4-20 x 1 FLAT HEAD, PHILLIPS MACHINE SCREW

5 5/16-18 x 1 1/4 ROUND HEAD, SLOTTED MACHINE SCREW

BUTCHER BOY

FITS MODELS

NBS P/N OEM P/N DESCRIPTION 1435 |1640
BBRK-5 N/A Hardware Kit X X

The above described parts are supplied by National Band Saw Company as replacement parts for Butcher Boy equipment.




